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Entrance Test : Neutron

PART -1 : MATHS

SECTION -1 |(Single Correct Choice Type)

This Section contains 30 Single choice questions. Each question has four choices (A), (B), (C) and (D) out of
which ONLY ONE is correct.

Marking Scheme:
You will be awarded 3 marks for correct answer, 0 for wrong answer and zero if Question is left un-attempted.

1.

If the square root of a number is between 6 to 7, then the cube root of the number will be between

(11&2 (2)2&3 (3)3&4 (4)4 &5

Answer :

Every point on the number line represents

(1) Anatural no. (2) Areal number (3)Arational no. (4) Anirrational number

Answer : El

Which of the following expressions represents the number one million in scientific notation?

(1) 1000000 (2)1.0x10° (3)10 % 10° (4) 100 x 107
Answer : El

Facterise :

§—-4i—4dm-2im-4n+2Mh + 2mn — imn

(ME2-HEZ+m}2+n) 2)2-H{2-m}(2-n)
(3(2+m2+ny {2+ @ 2-n{d-my{(1-n)

Answer : El

The value of (2020)° - (2019)° is

(1) 4040 (2)4038 (3) 4000 (4)4039

Answer : El
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Entrance Test : Neutron

6. The container pictured below is made up of a cone and a cylinder. The cone and the cylinder
have the same height.

5
i
<
12 cm
Which of the following is closest to the volume of the container?
(1) 2261 cm? (2} 3016 crm? (3) 3393 cm? (4)4524 cm?
Answer : El
7. If (x+ 1) and (x— 2) are factors of x* + ax? — bx — 6, then find the values of a and b respectively.
(12,3 (2)3,5 (3)5,3 4)2,5

Answer : El

8. ABCD is arhombus whose diagonals intersect at O. If Z/ADC = 120° and OD =6 cm. Then
perimeter of rhombus is

(1)24cm (2)40cm (3)32cm (4)48.cm

Answer : El

3
9 The sum of three distinct numbers is 10. If a number is > more than the smallest number
5
and Eless than the largest number, then the largest number is:
1 n 2 3 3 ! 44
(N 3 @) 5 @) 5 (4)

Answer : El

10.  15% of 400 students are not good in mathematics. How many are good in mathematics?
{1)85 {2)60 {3)185 (4) 340
Answer : El
11.  Simplify: (3x — 8y) (3x + 8y + 8)— Ox + 24y
(1) 9% — 9x — 64y — 24y (2) O + Ox + 64y - 24y
(3) OxF —Ox—B4y? + 24y {4) OxE + Ox — B4y? - 24y

Answer : El
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12.

13.

14.

15.

16.

17.

18.

: Neutron

Evaluate (if V5 =2.236, and +10 =3.162

15
V10 ++/20 +/40 -5 - /80

(1) 3.598 (2)5.398 (3)4.398 (4)5.938

Answer : El

The one’s digitofthe cube of 43is ...
(ms 27 (3)3 41

Answer : El

What is the value of 6.6 — 99 ?

(1)33 2 03 (3)-33 (4)3.33

Answer : El

Multiplicative inverse of 3™ is

(1) 3+ (2) 22 (3)1 (4) 3+
Answer : El
x2 y2
If y_2+F:6’ (x, y # 0), then the value of (x —y) (x + y) + 2xy = m and the value of
(x—y) (x +y) —2xy =n. Find the value of mn.

(1) 4 (2) 36 (3)0 (4)8

Answer : El

2 2 2
Whatis the value of 1010° +2020_ + 3030

2020

(1) 2020 (2) 3030 (3)7070 (4) 6060

Answer : El

The rectangle hax has dimensiens as shown what is the length AG?

B C
= G
D
A &
2cm ‘bc’
E &cm H
(1) 24/26 cm {2) 46 cm (3) 2+/3 em (4) 16 cm
Answer:l:l
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19. fa+b=1%andab=88.a>0andb >0, a>bthen
Column-l Column-ll
0 |a®-p° P 57
(i) |a® + b2 {q) 819
(i a2 —p? {r) 185
(Miyor{i)oplil—oq 2)(i)—>q,(i)—r (ii)>p
@) iyorii)oq. lil—p () () =>q, (i p, (iiy>r

Answer : El

20. Polygen PQRST is a regular pentagon and polygon ABCDRS is a regular hexagon. Find x.
p
op
N

{1)108 (2)132 (3)124 (4)96

Answer : El

The art competition organisers decided that a winner in the competion gets a prize of Rs.
100 and a participant who does not win gets a prize of Rs. 25. The total prize money distributed
is Rs. 3000. Find the number of winners, if the total number of participants is 63.

(1)17 (2)19 (3)21 (4) 24

Answer : El

22.  The list price of a frock is Rs. 800. A discount of 35% is announced on sales. What is the
amount of discount on it & its sales price respectively?

(1) Rs. 250, Rs. 550 (2) Rs. 200, Rs. 600
(3) Rs. 280, Rs. 520 (4) None of these

Answer : El

21.
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23 u+v
In the figure, ¢|lm, ZPOQ = 154°, then the value of [ 2 )IS:
< e >
7o
0{)154°
v°
€ 8) > m
(1) 77 (2) 154 (3) 103 (4) 2086
Answer : El
24.

P takes the same time to complete a revolution round a circular field as Q takes to
complete a revolution round a square field. If P and Q move with same speed, then the
ratio of the area of circular field to the area of square field is:

3n 3 A
(1) g @) 5 @) 5 @)

Answer : El

25. A car covers 432 km in 36 litres of petrol. How much distance it would cover in 25 litres of
petrol

(1) 300 km (2) 250 km (3) 200 km (4)None

Answer : El

2% Find the value of 300[0.09]" x[0.027]

1/3

(1) 25 29 (3) 27 4 3

Answer : El

27.
If x=3 22 then the value of x is
V 125

1 2 4
2— 1= 3= 4=
(1) 5 (2) 5 3) 5 4)
Answer : D
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o

28. 1
Ifx = \5+1 then find the value of | X —;

(1 @3 (3)2 (4) 4

Answer : El

29. A cube with a side 1 m long has been cut into cubes of a side 1 dm each. All small cubes have been put
one on top of the other, to form a vertical structure. What is the height of this structure?

(1) 100 m (2) 1 km (3) 10 km (4) 1000 km

Answer : El

30. _The ratio of marks obtained by Vinod and Basu is 6:5. If the combined average of their percentage

is 68.75 and their sum of the marks is 275, find the total marks for which exam was conducted.
(1) 150 (2) 200

(3) 400 (4) none

Answer : El
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PART -1II : APTITUDE

SECTION -1 |(Single Correct Choice Type)

This Section contains 30 Single choice questions. Each question has four choices (A), (B), (C) and (D) out of
which ONLY ONE is correct.

Marking Scheme:

You will be awarded 3 marks for correct answer, 0 for wrong answer and zero if Question is left un-attempted.

31.  Facing towards South, Ram started walking and turned left after walking 30 m, he walked 25 m and

turned left and walked 30 m. How far is he from his starting position and in which direction ?
(1) At the starting point only (2) 25 m, West
(3) 25 m, East (4) 30 m, East

Answer : El

32.  Deepa's school is to the West of her hostel while her office is to the North-West of the Hostel and
the market is to the South East of her school. If the distance between her school and market, hostel
and market, office and school and office and hostel are equal, then in which direction is the office
with respect to her school ?

(1) South-West (2) North-West (3) South-East (4) North-East

Answer : El

33.  If CURVE is written as XFIEV, what stands for THEORY ?
(1) MUTPGK (2) GSVLIB
(3) GKPQUM (4) GKNSPF

Answer : D

34. In a row of boys, Mukesh is 8" from the right and Suresh is 8" from the left. When Mukesh and Suresh
interchange their positions, Suresh becomes 16™ from the left. What will be Mukesh’s new position
from the right ?

(1) 15 2) 16 (3) 17 (4) 18

Answer : El
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35. A cube painted red on two adjacent faces and pink on the faces opposite to the orange faces and violet

on the remaining faces is cut into sixty-four smaller cubes of equal size. How many cubes have less
than three but atleast one face painted ?

(18 (2) 24 (3) 28 (4) 48

Answer : El

36. How many circles are there in the adjoining figure ?

(1) 13 ) 16 (3) 15 4) 10

Answer : El

37. We've assigned different whole numbers to letters and then multiplied their values together to make
the values of words.
Given that TEEN = 52, TILT = 77, TALL = 363
What's the value of TATTLE?
(1) 20 (2) 34 (3) 56 (4) 66

Answer : El
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38.  Choose the alternative figure in which the question figure (X) is embedded.

(X)
"
B
y
\ /
(1) 2) (3) 4)

Answer : El

39.  Choose the missing terms out of the given alternatives.
Z,Y, X, U T,S,P,O,N, K, 2, ?
(1) HG (2) GE (3) H (4) J1
Answer : El
40. Al the surface of the dice contain different numbers in the form of dots. Consider both the figures of

dice and tell how many dots are contained on the face opposite to the face that contains four dots ?

. : e o' @
o |32
(1) 2 (2) 3 (3)5 46
Answer : El
41. (6+6+6+6)<06

Which of the following will be the value of the expression :
4+4+4+4+4

1)1 2i '!i 4) 3—
(1) ()2 (-)13 (113

“““““““““““““““““““““““ Rough Work
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Entrance Test : Neutron

Answer : El

42.  The given question is based on the following diagram in which rectangle represents males, triangle
represents eduated, circle represents urban, square represents civil servants. Numbers are shown in

the different sections of the diagram. On the basis of these number, answer the question.

How many uneducated male are there who are neither a civil servant nor from urban area ?
(1) 13 2)8
(3) 31 4) 14

Answer : El

43.  Find the missing character (?)

GHOOWE
OOOOO
OOOWO
OGO
HOOO®O

(1) 6 27 (3) 38 49

Answer : El
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44. Which diagram represents the best relation between Newspaper, Paper and Times of India ?

©@ @ @ P

Answer : El

45. ‘L % M’ means that M is brother of L ‘L x M’ means that L is mother of M
‘L + M’ means that L is the sister of M ‘L = M’ means that M is father of L.
Which of the following means “ [ is the nephew of Q" ?
WQ%I=1
(i)Q - MxB %I
(ii)C -+ T=B%Q
(1) Only (iii) (2) Only (i) (3) Only (ii) (4) None of these

Answer : El

46.  Complete the series, choosing the correct figure from the given alternatives.

00\,
oo/’

OQ OO0

(1) OAD (2) OAO

OO OO0

3) O/_\EI 4) OAEI
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Answer : El

In a family of 8 persons viz. A, B, C, D, E, F, G and H, there are 3 couples and 4 females. All couples

except one particular, have 1 child each. G and F are cousins. B is the grandmother of G and C is the

son of A. If couple C - H has a daughter F then how is G related to E ?

(1) Grandson

(3) Son

Answer : El

Choose the correct mirror image of fig.(X) from alternative (1), (2), (3) & (4).

-
[T

t |

IR -

N

I N

X)

(1)

Answer : El

Find the missing term (?7)

10,47,232,1157,5782, ?

(1) 27641

(3) 28903

Answer : El

Find the water image of the object given in the question figure denoted by (A), out of the figure

given in the answer choices, (1), (2), (3) and (4).

(2)

3)

L

A_i_v

r}.

T

(1

(2)

3 @

4)

(2) Granddaughter
(4) Daughter-in-law

(2) 28907

(4) 27689
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" 51, XandYisamarried couple. Aand B are the brothers. Ais the brother of X. How B related
toY?
(1) Brother-in-law (2) Father-in-law (3) Son-in-law (4) Brother
Answer : El
52.  Which is correct water image from the given four images ?
U4P157
(M AYbI2B) (2 nyd12B) 3)(1¥h{e) 4 ned]e)
Answer : El
53.  Inthe following question, choose the correct mirror image from alternatives.
VINAYAKA
(1) INVAYAKA (2) AJAYAUIV (3) AKAYAMIV (4) ANAYANIV
Answer : El
54.  Praveen is facing North - East. He turn 90°degree in the clockwise direction and then 135°in
the anticlockwise direction . In which direction is he facing Now?
(1) North (2) South (3) East (4) West
Answer : El
55 Whatis the value of :
16x12-6+2+17=7
(1)172 (2) 192 (3) 206 (4) 209
Answer : El
56.  Find the missing term in the given number series :
163, 167, 142,147 111,117,775
{(1)96 (2)68 (3)78 (492
Answer : El
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57 Which number replaces the question mark?
4 4 4
47 3 5 3 5 ?
2 98 6
(1)125 (2) 141 (3)177
Answer : El
58.  Find the water image of the given figure.
(1) (2) 9 (3) & (4)
Answer : El
59.

Which number replaces the question mark?

2 2 9
6 4 2
(1) 27 (2) 37 (3)47
Answer : El
“““““““““““““““““““““““ Rough Work
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(4) 156
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60. In the following question a set of figures related in some manner is given. Find the figure that

comes in place of 7" and follows/continuous the same relationship.
Question figure:

Answer figure :

~J

oIl

o ||l

(1) | 3)

1|

Answer :
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